Challenge Puzzle

Quiz I:
You have 14 balls. One of them 1s either heavier or lighter
than the rest, and the remaining 13 are identical in weight.
You need to find out:

1. Which ball is the odd one?

2. Whether 1t 1s heavier or lighter, using the fewest

number of weighings on a balance scale.

Quiz 2:
How Laiye, a regional leader in RPA and intelligent

automation, can defeat UiPath in the longer run?

Quiz 3:
Give an example of AI agent use case that will create
tremendous values for a significant large enough niche

market.



